TO VALIDATE, GO TO Certificate Number: **GI-COO-46086-6633879d5d392** 

Date: May 02, 2024

Transport Type Port of Loading Seller (Exporter) Vessel Los Angeles Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China Xingang Tianjin CA USA **Export Date Exporting Carrier** N/A 2024-04-15 Consignee Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, 401410124278 Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

greater irvine chamber | Destination Irvine Economic Development

Remarks Total: 1560 bales Total: 641.594 MT



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	21.319 mt	United States
Marks: EMCU8589717 52bales		
Alfalfa Hay	22.063 mt	United States
Marks: TCNU6186475 52bales		
Alfalfa Hay	21.745 mt	United States
Marks: TGBU7156156 52bales		
Alfalfa Hay	21.745 mt	United States
Marks: BSIU9960421 52bales		
Alfalfa Hay	21.636 mt	United States
Marks: FCIU9466094 52bales		
Alfalfa Hay	21.056 mt	United States
Marks: EMCU9488906 52bales		
Alfalfa Hay	22.036 mt	United States
Marks: GAOU6286973 52bales		

Name of Authorized Trade Association



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in respect of any costs and/or claims made against GIC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein

## CERTIFICATE OF ORIGIN ORIGINAL

greater irvine chamber Destination Irvine Economic Development

TO VALIDATE, GO TO Certificate Number: GI-COO-46086-6633879d5d392 **VERIFY.FTGS.US** Date: May 02, 2024

Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel	Port of Loading Los Angeles
43 Corporate Park Irvine CA USA	Destination Country China	Destination Port Xingang Tianjin
Consignee Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Export Date 2024-04-15	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB 401410124278
	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1560 bales Total: 641.594 MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	21.392 mt	United States
Marks: BMOU5468850 52bales		
Alfalfa Hay	21.392 mt	United States
Marks: EISU9124722 52bales		
Alfalfa Hay	22.154 mt	United States
Marks: TCNU5517706 52bales		
Alfalfa Hay	21.509 mt	United States
Marks: TGBU4528141 52bales		
Alfalfa Hay	20.584 mt	United States
Marks: EITU1275177 52bales		
Alfalfa Hay	20.938 mt	United States
Marks: DRYU9447651 52bales		ZXXXXX
Alfalfa Hay	20.675 mt	United States
Marks: EISU9268273 52bales		

Name of Authorized Trade Association



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold
- harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



## CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: GI-COO-46086-6633879d5d392 **VERIFY.FTGS.US** Date: May 02, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading Los Angeles
Irvine	Destination Country	Destination Port
CA	China	Xingang Tianjin
Consignee Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone,	Export Date 2024-04-15	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB 401410124278
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1560 bales Total: 641.594 MT



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	21.519 mt	United States
Marks: TGBU6883417 52bales		
Alfalfa Hay	22.226 mt	United States
Marks: EGHU9592557 52bales		
Alfalfa Hay	21.664 mt	United States
Marks: EISU9483574 52bales		
Alfalfa Hay	20.539 mt	United States
Marks: TGBU8641330 52bales		
Alfalfa Hay	21.954 mt	United States
Marks: TRHU7080820 52bales		
Alfalfa Hay	20.657 mt	United States
Marks: TGBU7117777 52bales		
Alfalfa Hay	21.673 mt	United States
Marks: TRHU6280612 52bales		

Name of Authorized Trade Association



The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:

The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

-The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is

accurate, true and complete.

-The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing

of any inaccuracy, omission or change in such information, or in the origin of goods.

-The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

-In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold

harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in

respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

Transport Type

Port of Loading

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park

Irvine CA USA

Vessel Los Angeles **Destination Country Destination Port** China Xingang Tianjin

Consignee

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

greater irvine chamber Destination Irvine Economic Development

**Export Date Exporting Carrier** 2024-04-15 Import Permit Number Bill of Lading / AWB 401410124278 Owner or Agent Forwarding Agent

N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1560 bales Total: 641.594 MT

N/A



Weight Country of Origin (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.) 21.092 mt **United States** Alfalfa Hay Marks: EITU1932163 52bales **United States** Alfalfa Hay 21.265 mt Marks: TLLU7511668 52bales Alfalfa Hay 21.355 mt **United States** Marks: EISU9447936 52bales Alfalfa Hay 22.226 mt **United States** Marks: TCNU1564931 52bales 21.301 mt **United States** Alfalfa Hay Marks: TXGU6693111 52bales United States Alfalfa Hav 20.965 mt Marks: EITU1890978 52bales Alfalfa Hay 20.911 mt **United States** 

Name of Authorized Trade Association

Marks: TEMU6279006 52bales



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods
- -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. The Applicant is authorized to give the undertakings set out herein



## CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: GI-COO-46086-6633879d5d392

**VERIFY.FTGS.US** Date: May 02, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading Los Angeles
Irvine	Destination Country	Destination Port
CA USA	China	Xingang Tianjin
Consignee Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Export Date 2024-04-15	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB 401410124278
	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1560 bales Total: 641.594 MT



otion Include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Hay	20.729 mt	United States
EITU1539304 52bales		
Hay	21.274 mt	United States
EISU8487620 52bales		
end of products	====	
		DAMA MARINE

Name of Authorized Trade Association



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold
- harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

## **COMMERCIAL INVOICE**

Invoice No.

SD-202403031

Date:

4/11/24

Shipper/Exporter: Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA

Consignee:

INNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD

Station 3E-028,

Beixing Lianchuang Center,

Hohhot Comprehensive Bonded Zone,

Huimin District, Hohhot,

Inner Mongolia

SDHT-HGLC2024-2 Contract No.:

**Booking No.:** 401410124278

USA Country of Origin:

Discharge: TianjinXingang, China

5/1/24 ETA:

EVER FAR Vessel: Voyage No.: 1342-019W Shipping Line: Evergreen Port of Loading: LOS ANGELES, CA

ETD: 4/11/24 CIF **Price Terms:** 

Container No.	Seal#	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
BMOU5468850	A1515422	Alfalfa Supremi	52	21.392	\$422.00	\$9,027.42
BSIU9960421	A1515477	Alfalfa Supremi	52	21.745	\$422.00	\$9,176.39
DRYU9447651	A1515374	Alfalfa Supremi	52	20.938	\$422.00	\$8,835.84
EGHU9592557	A1515330	Alfalfa Supremi	52	22.226	\$422.00	\$9,379.37
EISU8487620	A1515369	Alfalfa Supremi	52	21.274	\$422.00	\$8,977.63
EISU9124722	A1515428	Alfalfa Supremi	52	21.392	\$422.00	\$9,027.42
EISU9268273	A1515372	Alfalfa Supremi	52	20.675	\$422.00	\$8,724.85
EISU9447936	A1515469	Alfalfa Supremi	52	21.355	\$422.00	\$9,011.81
EISU9483574	A1515328	Alfalfa Supremi	52	21.664	\$422.00	\$9,142.21
EITU1275177	A1515375	Alfalfa Supremi	52	20.584	\$422.00	\$8,686.45
EITU1539304	A1515411	Alfalfa Supremi	52	20.729	\$422.00	\$8,747.64
EITU1890978	A1515418	Alfalfa Supremi	52	20.965	\$422.00	\$8,847.23
EITU1932163	A1515271	Alfalfa Supremi	52	21.092	\$422.00	\$8,900.82
EMCU8589717	A1513165	Alfalfa Supremi	52	21.319	\$422.00	\$8,996.62
EMCU9488906	A1515475	Alfalfa Supremi	52	21.056	\$422.00	\$8,885.63
FCIU9466094	A1515476	Alfalfa Supremi	52	21.636	\$422.00	\$9,130.39
GAOU6286973	A1515473	Alfalfa Supremi	52	22.036	\$422.00	\$9,299.19
TCNU1564931	A1515467	Alfalfa Supremi	52	22.226	\$422.00	\$9,379.37
TCNU5517706	A1515421	Alfalfa Supremi	52	22.154	\$422.00	\$9,348.99
TCNU6186475	A1513161	Alfalfa Supremi	52	22.063	\$422.00	\$9,310.59
TEMU6279006	A1515416	Alfalfa Supremi	52	20.911	\$422.00	\$8,824.44
TGBU4528141	A1515378	Alfalfa Supremi	52	21.509	\$422.00	\$9,076.80
TGBU6883417	A1515371	Alfalfa Supremi	52	21.519	\$422.00	\$9,081.02
TGBU7117777	A1515275	Alfalfa Supremi	52	20.657	\$422.00	\$8,717.25
TGBU7156156	A1513070	Alfalfa Supremi	52	21.745	\$422.00	\$9,176.39
TGBU8641330	A1515325	Alfalfa Supremi	52	20.539	\$422.00	\$8,667.46
TLLU7511668	A1515470	Alfalfa Supremi	52	21.265	\$422.00	\$8,973.83
TRHU6280612	A1515273	Alfalfa Supremi	52	21.673	\$422.00	\$9,146.01
TRHU7080820	A1515324	Alfalfa Supremi	52	21.954	\$422.00	\$9,264.59
TXGU6693111	A1515465	Alfalfa Supremi	52	21.301	\$422.00	\$8,989.02
Total Value:	•		1,560	641.594		\$270,752.67
Deposit (\$150/MT):						\$96,239.10
Downpay Payment:						\$174,513.57
Remaining Balance:						\$.00

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.



PACKING: FIT FOR OSEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

GI-C00-46086-6633879d5d392/May

By Healthy Green Life Corporation

AUTHORIZED SIGNATURE



